MRX.p

ELESA J& €% it

WSRO Y F A

- WA M ERE K EPABHERESEFRAK, ®ER. b, &
fig AR H b 22

- B, FREE, TAXEDNE,
AMERFER, AEITRETENFALT, 7 URERAL2004% &
RAL7031 % % = #RALB0114 &,

- BHERSEHEF, AROEHS, ERERNMRTREERS, &
(@22 x%,

- EERNER, T, FEUNIERIMTISO4753H %,

- BRBERe R LY, EERERM LA, AISIB02AHFHE L%,

- B RARED, SHECM AT FRLE, FHREEERE B
FEAHUNTHA:
- BB P REARKH BB,
-WREHP AL ZEEHYM,
— FRAMF A, BAEFE,

F RAER T ROZAME, TRAFRED AN,
i
[tal

WEEFELBEPHTRE, CHFARE, RAXZREER, RE
Bl E, mMAFM, ENRRRREGEHEES,

1
48
m i E W= Rt g 19884 i Die gute Industrieform™ [ fir % % H fir#t !
§ T
PN A
| | 1
AEFRALATEATAN L, AHLHAREA L, HL, £ 1 1
NEFYEATRERRE A BB EORREER) NS BHE | °
A S BR U EE,
B b, BARNEREHE S EHR TS TR HREHTHA -9
535 E B AMRX.80T B4 45, BB £ HmA00NA M ERT, i

o A % 8 11100,0000% 1y 5 B # 1F.
MR R LA F R AR 0B, EFELESAT R T % FHn
MR A EE TAMEEY TEEH THATREN TS E,

#ERE

160, 000

140,000

120,000

100,000

80,000

60, 000

40.000

20.000

400 450 500 550 600 650 VOON

@ Ielemnnl‘in“] “ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.



= E H ER~T Liefl gl g
AL 8 = d 6g | Z g
141201 | MRX 40 p-M5x10 M5 10 10
141211 | MRX.40 p-M5x16 M5 16 11
141221 | MRX 40 p-M5x20 M5 20 12
141301 | MRX 40 p-M6x10 M6 10 12
141311 | MRX.40 p-M6x16 M6 16 18 13
141321 | MRX 40 p-M6x20 M6 20 14
141331 | MRX 40 p-M6x25 M6 25 15
141335| MRX 40 p-M6x30 M6 30 16
141341 | MRX 40 p-M6x40 M6 40 18
141431 | MRX 63 p-M6x10 M6 10 25
141441 | MRX 63 p-M6x16 M6 16 26
141451 | MRX 63 p-M6x20 M6 20 27
141461 | MRX 63 p-M6x25 M6 25 28
141466 | MRX 63 p-M6x30 M6 30 29
141470| MRX 63 p-M6x35 M6 35 30
141471 | MRX 63 p-M6x40 M6 40 31
141501 | MRX 63 p-M8x16 M8 16 o 28
141511 | MRX 63 p-M8x20 M8 20 29
141521 | MRX 63 p-M8x25 M8 25 31
141531 | MRX 63 p-M8x30 M8 30 32
141535| MRX 63 p-M8x35 M8 35 35
141541 | MRX 63 p-M8x40 M8 40 36
141551 | MRX 63 p-M8x45 M8 45 37
141561 | MRX 63 p-M8x50 M8 50 38
141569 | MRX 63 p-M8x60 M8 60 40
142201 | MRX.80 p-M10x20 M10 20 54
142211 | MRX.80 p-M10x25 M10 25 57
142221 | MRX.80 p-M10x30 M10 30 60
142225| MRX.80 p-M10x35 M10 35 62
142231 | MRX.80 p-M10x40 M10 40 62
142241 | MRX.80 p-M10x50 M10 50 68
142245| MRX.80 p-M10x60 M10 60 73
142251 | MRX.80 p-M10x70 M10 70 79
142301 | MRX.80 p-M12x20 M12 20 o 62
142311 | MRX.80 p-M12x25 M12 25 67
142321 | MRX.80 p-M12x30 M12 30 68
142325| MRX.80 p-M12X35 M12 35 82
142331 | MRX.80 p-M12x40 M12 40 75
142335| MRX 80 p-M12x45 M12 45 80
142341 | MRX.80 p-M12x50 M12 50 83
142351 | MRX.80 p-M12x60 M12 60 92
142361 | MRX.80 p-M12x70 M12 70 98
142365 | MRX.80 p-M12x80 M12 80 105
142601 | MRX.100 p-M12x30 M12 30 06
142651 | MRX.100 p-M12x50 M12 50 112
142701 | MRX.100 p-M12x70 M12 70 127
142801 | MRX.100 p-M14x30 M14 30 112
142831 | MRX.100 p-M14x50 M14 50 28 132
142851 | MRX.100 p-M14x70 M14 70 152
142901 | MRX.100 p-M16x30 M16 30 138
142951 | MRX.100 p-M16x50 M16 50 163
142981 | MRX.100 p-M16x70 M16 70 190

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘elesa+BANTHR




